Higher 2010

1.
$$2x-3y-6=0$$
 $2x-3y-6=0$
 $2x-6=3y$
 $2x-2=y$
 $3x-2=y$

Ans: A

3. $3y-2y$

= $3(x-2)$

Ans: D

5. x^2+8x+3
= $(x^2+y)^2-16+3$
= $(x^2+y)^2-16+3$
= $(x^2+y)^2-13$

Ans: B

7. $y=2$
 $y=3$

Ans: C

Ans: B

9.
$$\int 2x^{-4} + \cos 5x \, dx$$

10. Product of Perp. vectors

= $\frac{2x^{-3}}{-3} + \frac{1}{5}\sin 5x + c$

= $\frac{3x}{7} \cdot \frac{-3}{2} = 0$

Ans: C

-3x + 10 -7 = 0

-3x = -3

11. $f(g(\sqrt{5}))$

= $f(\sqrt{5})$

= $f(\sqrt{5})$

= $f(\sqrt{5})$

= $f(\sqrt{5})$

Ans: B

12. $f(x) = x^{-5}$

= $f(\sqrt{5}) = x^{-5}$

= $f(\sqrt{5})$

= $f(\sqrt{5})$

= $f(\sqrt{5})$

Ans: A

13. $a = x^{-5}$

Ans: B

14. Area = $\int T_{0p} C_{u}(ve - B_{0}) dx$

= $\int 14 - x^{2} - (2x^{2} + 2) dx$

= $\int 14 - x^{2} - (2x^{2} + 2) dx$

Ans: C

15.
$$f'(x) = x^2 - 9$$
 $5c = 1$ $f'(1) = 1 - 9 = -8$ (decreasing)

 $5c = -3$ $f'(-3) = 9 - 9 = 0$ (Stationary)

Ans: C

16. $y = k(xc - 1)^2(xc - 5)$
 $5'(t) = 2t - 5$

Using 10 = $k \times (0 - 1)^2 \times (0 - 5)$
 $18. = 6 - 5 = 1$
 $18. = x^2 + hac = 20$

Ans: A

19. $y = \log x$ cuts and (1,0)

 $5c = \log (xc - 3)$
 $c + \log x = \log (xc - 3)$

of her point on $y = \log x$ must have $\log x = \log x$ (6, h)

 $5c = \log (xc - 3)$
 $f(x) = \log (xc - 3)$

Ans: C

(Shift beath 3 worth)

 $3c = \log (xc - 3)$

Ans: C

(Shift beath 3 worth)

21. (a)
$$Q = (\frac{1+18}{2}, 0+20)$$
 $Q = (11, 10)$
 $Q = (11, 1$

(a)
$$H(-5, \frac{1}{2}, 8)$$
 $3x = -5, \frac{1}{2}, \frac{1}{2} = 2x(-5, \frac{1}{2}) = 3$
 $23(x)$ (i) $4x = \frac{3}{2}$
 $3x = -2y = 0$
 $3x =$

(b)
$$\sqrt{m} = \begin{pmatrix} 0 \\ 1 \\ 0 \end{pmatrix} - \begin{pmatrix} 0 \\ 2 \\ 3 \end{pmatrix} = \begin{pmatrix} 0 \\ -1 \\ -3 \end{pmatrix}$$

$$\begin{array}{c} \overrightarrow{V} \overrightarrow{N} = \begin{pmatrix} 4 \\ 2 \\ 2 \end{pmatrix} - \begin{pmatrix} 0 \\ 2 \\ 3 \end{pmatrix} = \begin{pmatrix} 4 \\ 0 \\ -1 \end{pmatrix}$$

$$m.n = m, n, + m_2 n_2 + m_3 n_3$$
 $|m| = J_0 + 1 + 9 = J_10$
= $(0 \times 4) + (-1 \times 0) + (-3) \times (-1)$ $|n| = J_{16} + 0 + 1 = J_{17}$

$$\cos \theta = \frac{m \cdot n}{(m)/n}$$

```
Q3 (a) (i) if y = 3-x is a tangent there will be only
         one point of contact with the circle.
       9c^{2} + (3-xc)^{2} + 14xc + 4(3-x) - 19 = 0
      x^2 + 9 - 6x + x^2 + 14x + 12 - 4x - 19 = 0
           2x^2 + 4x + 2 = 0
               2(3c^2 + 23c + 1) = 0
               2(2c+1)^2 = 0
              (3C+1) = 70
                              DC = -)
                    only one point of contact, so line is a
                    torgent to the circle.
       (ii) y = 3 - \infty at x = -1
               Y = 4 Point of contact is (-1,4)
   (b) x^2 + y^2 + 14x + 4y - 19 = 0
          Contre (-7, -2) radius = 549+4+19
             1 C (5c, 4) = 572
= 6/2
       3/9(-1,4)
                               Using the section formula
         (-),-2)
                               \begin{pmatrix} -1 \\ 4 \end{pmatrix} = 4 \begin{pmatrix} -7 \\ -2 \end{pmatrix} + 4 \begin{pmatrix} 2 \\ 4 \end{pmatrix}
   C(1,6)
radius r = \frac{6\sqrt{2}}{3}
= 2\sqrt{2}.
                             \begin{pmatrix} -4 \\ 16 \end{pmatrix} = \begin{pmatrix} -7 \\ -2 \end{pmatrix} + \begin{pmatrix} 3x \\ 3y \end{pmatrix}
                                3x - 7 = -4 3y - 2 = 16

x = 1 y = 6
  Egn. of the circle is
                (x-1)^2 + (y-6)^2 = 8.
```

G4.
$$2\cos 2x - 5\cos x - 4 = 0$$
 $2(2\cos^2 x - 1) + 5\cos x - 4 = 0$
 $4\cos^2 x - 2 + 5\cos x - 4 = 0$
 $4\cos^2 x - 5\cos x - 4 = 0$
 $4\cos^2 x - 5\cos x - 6 = 0$
 $4\cos x + 3 = 0$
 $\cos x - 2 = 0$
 $4\cos x + 3 = 0$
 $\cos x - 2 = 0$
 $4\cos x + 3 = 0$
 $\cos x - 2 = 0$
 $4\cos x + 3 = 0$
 $\cos x - 2 = 0$
 $4\cos x + 3 = 0$
 $\cos x - 2 = 0$
 $\cos x = 2$
 $\cos x = 3$
 $\cos x = 2$
 $\cos x = 3$

No solutions

 $x = 138.6^{\circ}$, 221.4°
 $= 2.42$, 3.86 radians.

G5 (a) (i) $TP = xc$
 $50 SP = 2xc$ (symmetry on y-axis)

Find coordinates of T

lies on $y = \frac{2}{5}(10 - x^2)$

At T , $x = 0$
 $y = \frac{2}{5}(10 - x^2)$

At T , $x = 0$
 $y = \frac{2}{5}(10 - x^2)$

So Lingth of $Rc = 10 - x^2 - 4$
 $= 6 - x^2$

(ii) Alea of $Rc = 10 - x^2 - 4$
 $= 6 - x^2$

(ii) Alea of $Rc = 10 - x^2 - 4$
 $= 6 - x^2$
 $Rc = 12x - 2x^3$

65(b)
$$A(x) = 12x - 2x^{3}$$
 $A'(x) = 12 - 6x^{2}$
 $A'(x) = 0$ for turning points,

 $12 - 6x^{2} = 0$
 $6x^{2} = 12$
 $x^{2} = 2$
 $x = \sqrt{2}$
 $x =$

(6(b) A+ point A
$$y=0$$

So $(2x-9)^{\frac{1}{2}}=0$
 $2x-9=0$
 $2x=9$

$$2x = 9$$

$$x = \frac{9}{2}$$

$$x = \frac{9}{2} \quad A \left(\frac{9}{2}, 0\right)$$

(c) Area of triangle
$$A = \frac{1}{2}bh \qquad \text{or} \qquad \int \frac{1}{3}x \, dx$$

$$= \frac{1}{2}x \cdot 9x \cdot 3$$

$$= \frac{27}{2}$$

$$= \frac{27}{6}x^2 \int_0^{\pi} dx$$

$$=\frac{81}{6}-0$$
 $=\frac{27}{2}$

Find area under curve
$$y = (2x - 9)^{\frac{1}{2}}$$

$$\int_{3}^{9} (2x-9)^{\frac{1}{2}} dx = \left[\frac{(2x-9)^{\frac{3}{2}}}{3} \right]_{9}^{9}$$

$$= \left[\frac{(2x-9)^{\frac{3}{2}}}{3} \right]_{2}^{9}$$

$$=$$
 9

Shaded area,
$$A = \frac{27}{2} - 9$$

$$= \frac{9}{7} \text{ units}^2$$

67 (a)
$$\log_4 x = P$$
 $4^f = x$
 $\log_{16} 4^f = \log_{16} x$
 $p \log_{16} 4 = \log_{16} x$ Since $y = \log_{16} 4$
 $\frac{1}{2}p = \log_{16} x$. $\log_{16} 4 = 4$

(b)
$$\log_3 x + \log_9 x = 12$$

 $f_{\text{ron}} p_{\text{crt}(\alpha)} = \frac{1}{2} \log_3 x + \frac$

$$\log_3 x + \frac{1}{2} \log_3 x = 12$$

$$\log_3 x^{\frac{3}{2}} = 12$$

$$3^{12} = 3c^{\frac{3}{2}}$$